SRHE FIvIOTAE 1./19 (& K& ( )

1. DX HBAABC 12250 T, (DX 3 >DAD KM%, B)E 3 >DUD K/

B E, [42 ]
(1) AB=2,BC=3,CA=4 (2) ZA=90° ,AB=2BC=4 (3) LA=50° , ZB=60°

WD 3OO TEAEIMESNDT-DD X OFiIIAZRD X, [45 3 H]

2.
@) x,x+4, 3x

(1)4,x+2,11

3. AABCHD15P% L, AP, BP, CP ®4iEE L1 BC, CA, AB ¢ O H %

FNZEND,EF &%, AF-FB=3:2, AE:EC=2:3 ® & &, BD:DC %k kX,
[4 5]

4. NABCIZBWT, AB#%# 3 : 41N TH8% R, AC5 : 2IZNDT 54 % Q,
HAMERQ & BCORSEEP t95L %, BP:PC Z:Rd &,
[4 5]

NN

e

< Challengeill>

i:2, ﬁF:FC= fiﬁ?éo ,‘5‘@



1.
%

WD X572 AABC 12250 T. D@3 >0 DK/ANINE . )it 3 >DID KA

AL,

(1) AB=6,BC=10,CA=6

2.
o))

3.

(1)

B

ok

-~

(2) £C=95" ,BC=8,CA=10

(3) LA>90° , LA=2/B

WD 3OO TEAIENELN D72 D X OFiPHZ2 KD X,
(2)3x,x+4, x+2

X,2,6

ROKT BD:DC %3k X,

’..:
i

4,/}

i

5

/

P

N\

. ROKET iy &aRD L,

f‘

@)

) @ @ ® o) 10} B <ELVAERMBZE>
i~ % # & H E x R :
5 % p 2 B & o #  xOAEFERTIN. L, BFERSD
+ T o #e # B % 2 BmoEtA.
w ¥ 5 2 b & b2 o W
g O o 7 7 3 > #
& 1% . B 5 A g g @ \
idl ) & Vi T b # o
P Fe % x 1 t 5 ’; Fagan
o i R gt L Bl £ 2
= 3 = L -
= 3_ = % b X \
0.5 £ ; 4&7 6 cm
s @ @ ® ® ® @ ¢ z 4/
/A k = B A ES ° — 11 e
# 7 2 T i L -~ el cm
) L M * b W #
Y " u 23 > 1 Y
Bga v 1z £ 13 # 1z i3
1 53 & b4 1 N £
B ) < 2 @ 8¢ 2
L E 7 e A B
- x 4 v ¥ <
il > e + —
T T & L
A 3 3 i 1/19




EREF

FvITAFb

1. ZAROBEAOKPMER [+ 2 5]

(DZ£C<ZA<ZB

Q) /C</B< /A

2. ZAROALAOKPER (4 3 K]

(D5<x<13(m%<x<4

3. Fx/\OFEH [4 4]
BD:DC=4 : 9

4. ARTIADER [4 ]
BP:PC=10 : 3

< Challenge!!> [+ 5 &3]

7

(1)CG=§ (2) ED:DF =4:3

ELUWAERIE> [+ 5 4]
x=135°

]

1. ZAKODLAHOKIER
(DZC=4/B</ZA (QLA</B<ZLC
(3)AB<CA<BC

2. ZARODLAOGK/IMER

(1)4<x<8 (m§<x<6

3. FI/NOEHE
(1 3:10 2 98
4. ARTIVRADTER

(1 32 2 21 (3) 24:11

(=3 B AN

[PRCENVENGRE 3 ®

1/19

%

(3 BC<CA<AB

DEEI LY A
AD BC CE _ AN
BE 'GC EA o/ N\
war  2.BG 1 f.jf'[ \k -
4 GC ¢ / EXNE
o7  BE=8GC )

2 AABC BB EF 03T,

BE

&7

=T ED:DF=4:3
(o
L
5cm
A X
“IX
5cm 6 cm
o~L7x
11cm g Scm
-4 # & H E
2 t 5 " Eﬂ} &
v #e #e 3¢
b . .
3 a X s :5] PR,
el ] =4
Wlf;%%;;ti 35§ i’( S 52
A2 3 5| Wk |y - N A2
A R N E ARl
= a2 1 L -
K 5 = % L
;_ =
3
(0] ® ® @ @
3 = # A ES
7 K T HE L3 Al
v F x v v s
w0k | g s 2] X
= £ | # Iz
el HESHA ML HES
B 3| B 2 3%
{E‘fgifuﬁ,,[i‘ﬁ’ﬁ%fﬂ
1= * 7 W hy
Ee 2 e H %
T ¥ » L
v 3 3 L



b T

.

? TR B 2 1z
7 < 2t2

E<e 0

xt2 < 4t
K < /5 -z

L <13




